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QUESTION 1 Right mark: 1 Negative mark: 0.25

Teh RSN 5 TEG3T chl T UL 3 TEG3AT ohl HU odT & 3R 38 W 20% ATIRE BE |5 e @ v
+Y ST §1 39 ATSHAT o TG I AL WX 25% TATH 1T g1 A 36 o 3R 3ifeha o e @ L
e T TATA A shitaTa?

A shopkeeper gives 3 items free on the purchase of 5 items and also allows

20%additional discount on this. After this process he gains 25% on items. Then : mimnirsir
find the ratio of cost price and mark price? (RRB CLERK PRE 2019) |- o o/«
1) 1:2 Sl
2) 3:4 el
3) 4:5 e o o
4) 57 &

5) 2:5

Mark for Review & Mext Clear Respanse
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Question Type : singlechoice

QUESTION 1 Right mark: 1 Negative mark: 0.25

Teh JRER 5 TEgatt Y Tite Wt 3 aeqell Y qud 3aT 8 it 36 W 20% 3Tfiid ge s —v
+f IAT 1 3T UTSHAT o 1S I/ TEIAT T 25% TITH BT 21 a1 vl Tl HR 3ifehd e
e T STTUTA [T A2

A shopkeeper gives 3 items free on the purchase of 5 items and also allows

find the ratio of cost price and mark price? (RRB CLERK PRE 2019) e ) il |

|
il Sl L
20%additional discount on this. After this process he gains 25% on items. Then I o |[ 1o [ ] 2
|
1) 1:2 |

2) 3:4 m[%;qm
3) 4:5 BIE

4) 5:7

5) 2:5 ;

Mark for Review & Next Clear Response
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Question Type : singlechoice

QUESTION 2 Right mark: 1 Negative mark: 0.25

12 TETAT T 37T Hod 8 TETAT o TI5RT Hod o TR 2 12 TGSl W P 6 TeqaAl
o TITH o STaR gl A1 B TTa9Ta R AT Tfawra o o= 3’ F1a hiferar?

Cost price of 12 articles is equal to the selling price of 8 articles. Discount on 12
articles is equal to the profit of 6 articles. Then find the difference between
discount percentage and the profit percentage ?

(RRB CLERK PRE 2019)

1) 14.28%

2) 50%

3) 35.72%

4) 28.5%

5) 30%

Mark for Review & Next Clear Response
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Question Type : singlechoice

QUESTION 2 Right mark: 1 Negative mark: 0.25
12 SEGSAT T ShT Hed 8 TEAAT o [5hd Hod oh STal g1 12 TEAT W PE 6 TEqAT
& T o SRTaR g1 A1 P TTA9Td R TR TTore o ofier Siad A1 hifora?

Cost price of 12 articles is equal to the selling price of 8 articles. Discount on 12

articles is equal to the profit of 6 articles. Then find the difference between

discount percentage and the profit percentage ?
(RRB CLERK PRE 2019)

1) 14.28%
2) 50%

3) 35.72%
4) 28.5%
5) 30%

Mark for Review & Next Clear Response
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QUESTION 3 Right mark: 1 Negative mark: 0.25

Teh SR 3 Ueh T&] T 10% <hT ETH U =Tl IS SHA TH 20% FHWTHSTEAT @ @ s ;

. (07 ] Notvis tdon ried for
3R 36 5. 176 ATEH W AT FHT, AT 40% T TTH AT ATl TET T 6T AT AT [ @ s
Hwr

Choose a Question

A person sold a article at a loss of 10%. Had he bought it for 20% less and sold it fggj i
for Rs. 176 more, he would have made a profit of 40%. Find the cost price of the el L e
article ? (SBI CLERK PRE 2019) l 193 : r :1 {3
1) 600 2 e iz
2) 900 SIIEE
3) 1200 ==

4) 800 -

5) NOT i

Mark for Review & Next Clear Response
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QUESTION 3 Right mark: 1 Negative mark: 0.25

Teh SR 3 Ueh T&] T 10% <hT ETH U =Tl IS SHA TH 20% FHWTHSTEAT @ @ s ;

. (07 ] Notvis tdon ried for
3R 36 5. 176 ATEH W AT FHT, AT 40% T TTH AT ATl TET T 6T AT AT [ @ s
Hwr

Choose a Question

A person sold a article at a loss of 10%. Had he bought it for 20% less and sold it fggj i
for Rs. 176 more, he would have made a profit of 40%. Find the cost price of the el L e
article ? (SBI CLERK PRE 2019) l 193 : r :1 {3
1) 600 2 e iz
2) 900 SIIEE
3) 1200 ==

4) 800 -

5) NOT i

Mark for Review & Next Clear Response
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Question Type : singlechoice

P

QUESTION 4

Right mark: 1 Negative mark: 0.25

|ﬂ Answered v Not Answered

Teh RGN ek TEdeh Shi Hodl I8k 3hal el o 60% H JTereh Jifehd i 2 3 ) v @ Mt

x% <hY 3Y ThiH Te IAT R, TE 31t oY 15.6% T IT FATAT B x RIAM ARG e
A shopkeeper marked the price of a book above 60% of its cost price and gives P,
two successive discounts of x%, he still makes a profit of 15.6%. Find the value “mm—
of x? (SBI PO PRE 2019) gl [« =
1) 12% i
2) 10% SF[
3) 20% ==

4) 25%

5) NOT

Mark for Review & Next Clear Response
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Question Type : singlechoice

P

QUESTION 4

Right mark: 1 Negative mark: 0.25

|ﬂ Answered v Not Answered

Teh RGN ek TEdeh Shi Hodl I8k 3hal el o 60% H JTereh Jifehd i 2 3 ) v @ Mt

x% <hY 3Y ThiH Te IAT R, TE 31t oY 15.6% T IT FATAT B x RIAM ARG e
A shopkeeper marked the price of a book above 60% of its cost price and gives P,
two successive discounts of x%, he still makes a profit of 15.6%. Find the value “mm—
of x? (SBI PO PRE 2019) gl [« =
1) 12% i
2) 10% SF[
3) 20% ==

4) 25%

5) NOT

Mark for Review & Next Clear Response




QUESTION 5 Right mark: 1 Negative mark: 0.25

B S RANK =

Teh TSR 3 Teh T hT 18200 BT F 9% ohY & 3 T T A 13.75% HIAT | e @ 22
wTH TR afs g e e &Y AT, A STt AT UTd9Td T §I? D iz
A shopkeeper sold an article for Rs18200 with a discount of 9% and gained

13.75%. If no discount was allowed, what would be his profit percentage?
(RBI ASSISTANT 2020) I o |[ 1o ][

13 14 15 16

1) 35% 177 18‘ 19 | 20

21 22 23 24

2) 40% i 3
) 26 27l 28

3) 42% BB

4) 25%

5) 30% "

Mark for Review & Next Clear Response




QUESTION 5 Right mark: 1 Negative mark: 0.25

B S RANK =

Teh TSR 3 Teh T hT 18200 BT F 9% ohY & 3 T T A 13.75% HIAT | e @ 22
wTH TR afs g e e &Y AT, A STt AT UTd9Td T §I? D iz
A shopkeeper sold an article for Rs18200 with a discount of 9% and gained

13.75%. If no discount was allowed, what would be his profit percentage?
(RBI ASSISTANT 2020) I o |[ 1o ][

13 14 15 16

1) 35% 177 18‘ 19 | 20

21 22 23 24

2) 40% i 3
) 26 27l 28

3) 42% BB

4) 25%

5) 30% "

Mark for Review & Next Clear Response




QUESTION 6 Right mark: 1 Negative mark: 0.25

Section % |
1912ToT1 BANK 2023 | Gl
Question Type : singlechoice

2 Yt ot o TR e T ) A A T 15% e A (g
ST § 3R et st weit ot Rk Toa aaeft anfeiT wofiT & 3400 TU st 31 (S
5, TTH 20% B Tcdieh STIT H9fi <hY shiva o 32

Cost price of two washing machine is same. One of the washing machine is sold at a

profit of 15% and the Selling Price of another washing mashing machine is Rs3400 moreJ .| .

than the first one. The net profit is 20%. What is the cost of each washing machine? I || 4| 15| 16

1) 32000 (LIC ASSISTANT MAINS 2019) | 7 ©/ = =
2) 35500 ==
3) 34000 el

4) 36000

5) NOT

Mark for Review & Next Clear Response




QUESTION 6 Right mark: 1 Negative mark: 0.25

Section % |
1912ToT1 BANK 2023 | Gl
Question Type : singlechoice

2 Yt ot o TR e T ) A A T 15% e A (g
ST § 3R et st weit ot Rk Toa aaeft anfeiT wofiT & 3400 TU st 31 (S
5, TTH 20% B Tcdieh STIT H9fi <hY shiva o 32

Cost price of two washing machine is same. One of the washing machine is sold at a

profit of 15% and the Selling Price of another washing mashing machine is Rs3400 moreJ .| .

than the first one. The net profit is 20%. What is the cost of each washing machine? I || 4| 15| 16

1) 32000 (LIC ASSISTANT MAINS 2019) | 7 ©/ = =
2) 35500 ==
3) 34000 el

4) 36000

5) NOT

Mark for Review & Next Clear Response
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Question Type : singlechoice

QUESTION 7 Right mark: 1 Negative mark: 0.25

ul Answered v Not Answered

Teh SITUT ok UTH 600 TRIT =Tt 2, FRTHehT Ueh 9T I8 15% ATH W AR AT AT | (5] v @ 1

20% BT U ST 8| THeA THEATRT, I8 HeT 6% T T il g1 3T 20% T W
Fopr Sfeen
A trader has 600 kgs of rice, a part of which he sells at 15% profit and the EE*%
remaining quantity at 20% loss. Overall, he incurs an overall loss of 6% .What is ' o |[10][ ][
the quantity of rice he sold at 20% loss? (LIC ASSISTANT MAINS 2019) | = “/ = [°
1) 300kg [ ][ 18] [ 20
2 4tk uias
3) 360kg —

4) 210kg

S) S00kg =

Mark for Review & Next Clear Response
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QUESTION 7 Right mark: 1 Negative mark: 0.25

ul Answered v Not Answeared

Teh SITUT ok UTH 600 TRIT =Tt 2, FRTHehT Ueh 9T I8 15% ATH W AR AT AT | (5] v @ 1

20% BT U ST 8| THeA THEATRT, I8 HeT 6% T T il g1 3T 20% T W S rre—
Fopr Sfeen
A trader has 600 kgs of rice, a part of which he sells at 15% profit and the EE*%
remaining quantity at 20% loss. Overall, he incurs an overall loss of 6% .What is ' o |[10][ ][
the quantity of rice he sold at 20% loss? (LIC ASSISTANT MAINS 2019) | = “/ = [°
) SE[P
2) 410kg = ; — =
3) 360kg Al

4) 210kg

S) S00kg | e

Mark for Review & Next Clear Response
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QUESTION 8 Right mark: 1 Negative mark: 0.25

P 3 O T T STUAT THIEW I Sre HET 10% A BT ) sen g e e afe s | g”‘
39 75 TUA HATErh H AT BT, qT IH 5% T AITH ATl THICHIA T Sifchd qea sRTE oI [ @ i

qATH 25% hT T TdT § 3R FTATCH T 5% A9 W =l 52
Tripti found that she had made a loss of 10% while selling her smartphone. She also 'ﬂﬂi_ﬁl_ﬁ
found that had she sold it for Rs7S more, she would have made a profit of 5%. What is LakhEa -
the marked price of smartphone when Tripti gives a discount of 25% and sold the l :; 0 :5 :
smartphone for a 5% profit? (IBPS CLERK PRE 2021) 17: [ ][ )
1) Rs.500 a|[ 2] 2 ][ 20
2) Rs.525 L EEE
3) Rs. 450 L L

4) Rs. 600

5) NOT i

Mark for Review & Next Clear Response
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QUESTION 8 Right mark: 1 Negative mark: 0.25

P 3 O T T STUAT THIEW I Sre HET 10% A BT ) sen g e e afe s | g”‘
39 75 TUA HATErh H AT BT, qT IH 5% T AITH ATl THICHIA T Sifchd qea sRTE oI [ @ i

qATH 25% hT T TdT § 3R FTATCH T 5% A9 W =l 52
Tripti found that she had made a loss of 10% while selling her smartphone. She also 'ﬂﬂi_ﬁl_ﬁ
found that had she sold it for Rs7S more, she would have made a profit of 5%. What is LakhEa -
the marked price of smartphone when Tripti gives a discount of 25% and sold the l :; 0 :5 :
smartphone for a 5% profit? (IBPS CLERK PRE 2021) 17: [ ][ )
1) Rs.500 a|[ 2] 2 ][ 20
2) Rs.525 L EEE
3) Rs. 450 L L

4) Rs. 600

5) NOT i

Mark for Review & Next Clear Response
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Question Type : singlechoice

QUESTION 9 Right mark: 1 Negative mark: 0.25

=

Tk ASHT {Tshell ATTA 7o | 40% 3TTEIeh TATaet shi chivd 3ifehd ohidT § 3T gTaT
AT § 1o 9% 15% i T W ATaet A4l 8, Ak 98 1 TR o a1 850 7 &

m Answered v Not Answered

Marked for
Review

Answered & Marked for
v Review

1 91 | Not Visited

HTY ST ITANT AT g IEHT THeT AATH T(A9Ta FTA hlITeTar? VDE
A dishonest seller marks the price of Rice 40% above the cost price and claims zfzﬁ
that he sells Rice at a discount of 15% but, he uses a measure of 850 gm instead I o |[ ][ ][ 2
of 1 Kg . Find his overall profit percent? (RRB CLERK PRE 2021) | °/ “ =/ ®
b 1% e
2) 40 % ol el e
3) 45 % BB

4) 30 %

S) NOT

Mark for Review & Next Clear Response




[t idigioi BANK 2023

Question Type : singlechoice

QUESTION 9 Right mark: 1 Negative mark: 0.25

=

Tk ASHT {Tshell ATTA 7o | 40% 3TTEIeh TATaet shi chivd 3ifehd ohidT § 3T gTaT
AT § 1o 9% 15% i T W ATaet A4l 8, Ak 98 1 TR o a1 850 7 &

“ Answered v Not Answered

Marked for
Review

Answered & Marked for
v Review

|91 | Notvisited

HTY ST ITANT AT g IEHT THeT AATH T(A9Ta FTA hlITeTar? VDE
A dishonest seller marks the price of Rice 40% above the cost price and claims g%:—:z
that he sells Rice at a discount of 15% but, he uses a measure of 850 gm instead l o |10 || 2
of 1 Kg . Find his overall profit percent? (RRB CLERK PRE 2021) | °/ “ =/ ®
1) 35% L
2) 40% s
3) 45% Be

4) 30 %

S) NOT

Mark for Review & Next Clear Response




